(D CoBrigy == Culy+ Briops

[Cv"Jfﬁfj 25 x.h:)"‘7
x (©./0): sxo' T

¥W'g [§ X /o'%{: ECU'?'J l_
-

@ A&ﬁF—Q (CM>€m) ""q-::_'}f 4,40'2_53 3 F-&CCN)GA[;;)

Bqt?q [Fecer)” )= 3§ eual
(I}O'x{(}"‘;)4 (x) > % 5"5;;0"’{

X = $5.5%107 DM = [Felcw) ] = }‘3.5'3/14!

(D) Coy(OH); Orery == 467" + €Ol +3247

[3042'_][::3@6 (c.*’) 1. 2 3200767
dc = [sot =2 (Co®) = 405%%%)]
[so ok de (4pey?))t < 2. 3207
X Cf_oxzo“‘?)é[qug" .2, 3%/0°¢7
X {(2 Sexn %)= 5 3%/ 87
Xz 2.¥ /0 = [.-Sofj

I o)
[ d(rwxp7) 2 3.9 210 f/«{ )

74




I
Ca SOy =— CI" #5047
[C[sey® ] = 2.4 %1075

— - S Z-
A%zso%)?_ 245t + 50,

(A (sew]= 1.5%10™ frdet b
(CoPD= OOSOM  after 17F precspitdesl = 5t
('s.nx/o-‘*) % = 2.49j0"%
s [y ): O.0¥FM
Swica | (0.030)%(0u0%%) = $.32307 > 1FA0T
i 33'5434 el e {MJW& fo rrwf#e-‘/!-/ &

SO I

(6.030)%
= O \ O i6 7/1/1'

S S
o.0167

A& &3,;‘_‘ 'Av Fmgfa;‘lz&&-a ..)-Jf;.m 8(3;/2:]; [\S‘X/C’-f




